

## Research Article

# On Absolute Cesàro Summability

Hamdullah Şevli<sup>1</sup> and Ekrem Savaş<sup>2</sup>

<sup>1</sup> Department of Mathematics, Faculty of Arts and Sciences, Yüziüncü Yıl University, 65080 Van, Turkey

<sup>2</sup> Department of Mathematics, İstanbul Ticaret University, Üsküdar 36472, İstanbul, Turkey

Correspondence should be addressed to Hamdullah Şevli, hsevli@yahoo.com

Received 14 July 2008; Accepted 7 June 2009

Recommended by László Losonczi

Denote by  $\mathcal{A}_k$  the sequence space defined by  $\mathcal{A}_k = \{(s_n) : \sum_{n=1}^{\infty} n^{k-1} |a_n|^k < \infty, a_n = s_n - s_{n-1}\}$  for  $k \geq 1$ . In a recent paper by E. Savaş and H. Şevli (2007), they proved every Cesàro matrix of order  $\alpha$ , for  $\alpha > -1$ ,  $(C, \alpha) \in B(\mathcal{A}_k)$  for  $k \geq 1$ . In this paper, we consider a further extension of absolute Cesàro summability.

Copyright © 2009 H. Şevli and E. Savaş. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

## 1. Introduction

Let  $\sum a_v$  denote a series with partial sums  $(s_n)$ . For an infinite matrix  $T$ ,  $t_n$ , the  $n$ th term of the  $T$ -transform of  $(s_n)$  is denoted by

$$t_n = \sum_{v=0}^{\infty} t_{nv} s_v. \quad (1.1)$$

A series  $\sum a_v$  is said to be absolutely  $T$ -summable if  $\sum_n |\Delta t_{n-1}| < \infty$ , where  $\Delta$  is the forward difference operator defined by  $\Delta t_{n-1} = t_{n-1} - t_n$ . Papers dealing with absolute summability date back at least as far as Fekete [1].

A sequence  $(s_n)$  is said to be of bounded variation ( $bv$ ) if  $\sum_n |\Delta s_n| < \infty$ . Thus, to say that a series is absolutely summable by a matrix  $T$  is equivalent to saying that the  $T$ -transform the sequence is in  $bv$ . Necessary and sufficient conditions for a matrix  $T : bv \rightarrow bv$  are known. (See, e.g., Stieglitz and Tietz [2]).

Let  $\sigma_n^\alpha$  denote the  $n$ th terms of the transform of a Cesàro matrix  $(C, \alpha)$  of a sequence  $(s_n)$ . In 1957 Flett [3] made the following definition. A series  $\sum a_n$ , with partial sums  $(s_n)$ , is

said to be absolutely  $(C, \alpha)$  summable of order  $k \geq 1$ , written  $\sum a_n$  is summable  $|C, \alpha|_k$ , if

$$\sum_{n=1}^{\infty} n^{k-1} |\sigma_{n-1}^{\alpha} - \sigma_n^{\alpha}|^k < \infty. \quad (1.2)$$

He then proved the following inclusion theorem.

**Theorem 1.1** (see [3]). *If a series  $\sum a_n$  is summable  $|C, \alpha|_k$ , then it is summable  $|C, \beta|_r$  for each  $r \geq k \geq 1$ ,  $\alpha > -1$ ,  $\beta > \alpha + 1/k - 1/r$ .*

It then follows that if one chooses  $r = k$ , then a series  $\sum a_n$ , which is  $|C, \alpha|_k$  summable, is also  $|C, \beta|_k$  summable for  $k \geq 1$ ,  $\beta > \alpha > -1$ .

Absolute Abel summability, written as  $|A|$ , was defined by Whittaker [4] as follows. A series  $\sum a_n$  is said to be summable  $|A|$  if the series  $\sum a_n x^n$  is convergent for  $0 \leq x < 1$  and its sum-function  $\phi(x)$  satisfies the condition:

$$\int_0^1 |\phi'(x)| dx < \infty. \quad (1.3)$$

In the same paper, Flett extended this result to index  $k$  by replacing condition (1.3) by the condition:

$$\int_0^1 (1-x)^{k-1} |\phi'(x)|^k dx < \infty. \quad (1.4)$$

Thus the series  $\sum a_n$  is said to be summable  $|A|_k$ ,  $k \geq 1$ , if the series  $\sum a_n x^n$  is convergent for  $0 \leq x < 1$  and its sum-function  $\phi(x)$  satisfies condition (1.4). He then showed that summability  $|A|_k$  is a weaker property than summability  $|C, \alpha|_k$  for any  $\alpha > -1$ .

## 2. The Space $\mathcal{A}_k$

Let  $\sum a_n$  be a series with partial sums  $(s_n)$ . Denote by  $\mathcal{A}_k$  the sequence space defined by

$$\mathcal{A}_k = \left\{ (s_n) : \sum_{n=1}^{\infty} n^{k-1} |a_n|^k < \infty, a_n = s_n - s_{n-1} \right\}. \quad (2.1)$$

If one sets  $\alpha = 0$  in the inclusion statement involving  $(C, \alpha)$  and  $(C, \beta)$ , then one obtains the fact that  $(C, \beta) \in B(\mathcal{A}_k)$  for each  $\beta > 0$ , where  $B(\mathcal{A}_k)$  denotes the algebra of all matrices that map  $\mathcal{A}_k$  to  $\mathcal{A}_k$ .

Let  $A$  be a sequence to sequence transformation mapping, the sequence  $(s_n)$  into  $(t_n)$ . If whenever  $(s_n)$  converges absolutely,  $(t_n)$  converges absolutely,  $A$  is called absolutely conservative. If the absolute convergence of  $(s_n)$  implies the absolute convergence of  $(t_n)$  to the same limit,  $A$  is called absolutely regular.

In 1970, using the same definition as Flett, Das [5] defined such a matrix to be absolutely  $k$ th power conservative for  $k \geq 1$ , if  $T \in B(\mathcal{A}_k)$ ; that is, if  $(s_n)$  is a sequence satisfying

$$\sum_{n=1}^{\infty} n^{k-1} |s_n - s_{n-1}|^k < \infty, \quad (2.2)$$

then

$$\sum_{n=1}^{\infty} n^{k-1} |t_n - t_{n-1}|^k < \infty. \quad (2.3)$$

For  $k = 1$ , condition (2.2) guarantees the convergence of  $(s_n)$ . Note that when  $k > 1$ , (2.2) does not necessarily imply the convergence of  $(s_n)$ . For example, take

$$s_n = \sum_{v=1}^n \frac{1}{v \log(v+1)}. \quad (2.4)$$

Then (2.2) holds but  $(s_n)$  does not converge. Thus, since the limit of  $(s_n)$  needs not to exist, we cannot introduce the concept of absolute  $k$ th power regularity when  $k > 1$ .

In that same paper, Das proved that every conservative Hausdorff matrix  $H \in B(\mathcal{A}_k)$ , which contains as a special case the fact that  $(C, \beta) \in B(\mathcal{A}_k)$  for  $\beta > 0$ . We know that if  $\beta \geq 0$ , then  $(C, \beta)$  is regular, and if  $\beta < 0$ , then  $(C, \beta)$  is neither conservative nor regular. In [6], the result of Flett and Das was extended by the following theorem.

**Theorem 2.1** (see [6]). *It holds that  $(C, \alpha) \in B(\mathcal{A}_k)$  for each  $\alpha > -1$ .*

*Remark 2.2.* In [6], when  $-1 < \alpha < 0$  it should be added the condition

$$\sum_{n=1}^{\infty} n^{k-\alpha-1} |a_n|^k = O(1). \quad (2.5)$$

in the statement of Theorem 2.1. Also, it should be added the absolute values of the binomial coefficients in the proof of Theorem 2.1 for the case  $-1 < \alpha < 0$ .

Since summability  $|A|_k$  is a weaker property than summability  $|C, \alpha|_k$  for any  $\alpha > -1$ , from Theorem 2.1, we obtain the following theorem.

**Theorem 2.3.** *If  $(s_n) \in \mathcal{A}_k$  then  $\sum a_n$  is summable  $|A|_k$ ,  $k \geq 1$ .*

### 3. The Main Results

In this paper we consider a further extension of absolute Cesàro summability. If one sets  $\alpha = 0$  in Theorem 1.1, then one obtains the fact that  $(C, \beta) \in (\mathcal{A}_k, \mathcal{A}_r)$  for each  $r \geq k \geq 1$ ,  $\beta > 1/k - 1/r$ . It is the purpose of this work to extend this result to the case  $\beta > -k/r$ .

We will use the following Lemma.

**Lemma 3.1** (see [7]). *If  $\theta > -1$  and  $\theta - \varphi > 0$ , then*

$$\sum_{n=v}^{\infty} \frac{E_{n-v}^{\varphi}}{nE_n^{\theta}} = \frac{1}{vE_v^{\theta-\varphi-1}}, \quad E_n^{\theta} = \frac{\Gamma(\theta+n+1)}{\Gamma(n+1)\Gamma(\theta+1)} \approx \frac{n^{\theta}}{\Gamma(\theta+1)}. \quad (3.1)$$

We now prove the following theorem.

**Theorem 3.2.** *Let  $r \geq k \geq 1$ .*

- (i) *It holds that  $(C, \alpha) \in (\mathcal{A}_k, \mathcal{A}_r)$  for each  $\alpha > 1 - k/r$ .*
- (ii) *If  $\alpha = 1 - k/r$  and the condition  $\sum_{n=1}^{\infty} n^{k-1} \log n |a_n|^k = O(1)$  is satisfied then  $(C, \alpha) \in (\mathcal{A}_k, \mathcal{A}_r)$ .*
- (iii) *If the condition  $\sum_{n=1}^{\infty} n^{k+(r/k)(1-\alpha)-2} |a_n|^k = O(1)$  is satisfied then  $(C, \alpha) \in (\mathcal{A}_k, \mathcal{A}_r)$  for each  $-k/r < \alpha < 1 - k/r$ .*

*Proof.* Let  $\sigma_n^{\alpha}$  denote the  $n$ th term of the Cesàro mean of order  $\alpha$  of a sequence  $(s_n)$ ; that is,

$$\sigma_n^{\alpha} = \frac{1}{E_n^{\alpha}} \sum_{v=0}^n E_{n-v}^{\alpha-1} s_v. \quad (3.2)$$

We will show that  $(\sigma_n^{\alpha}) \in \mathcal{A}_r$ ; that is,

$$\sum_{n=1}^{\infty} n^{r-1} |\sigma_n^{\alpha} - \sigma_{n-1}^{\alpha}|^r < \infty. \quad (3.3)$$

Let  $\tau_n^{\alpha}$  denote the  $n$ th term of the Cesàro mean of order  $\alpha$  ( $\alpha > -1$ ) of the sequence  $(na_n)$ ; that is,

$$\tau_n^{\alpha} = \frac{1}{E_n^{\alpha}} \sum_{v=1}^n E_{n-v}^{\alpha-1} v a_v. \quad (3.4)$$

Since  $\tau_n^{\alpha} = n(\sigma_n^{\alpha} - \sigma_{n-1}^{\alpha})$  (see [8]), condition (3.3) can also be written as

$$\sum_{n=1}^{\infty} \frac{1}{n} |\tau_n^{\alpha}|^r < \infty. \quad (3.5)$$

It follows from Hölder's inequality that

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{1}{n} |\tau_n^{\alpha}|^r &= \sum_{n=1}^{\infty} \frac{1}{n} \left| \frac{1}{E_n^{\alpha}} \sum_{v=1}^n E_{n-v}^{\alpha-1} v a_v \right|^r \\ &\leq \sum_{n=1}^{\infty} \frac{1}{n(E_n^{\alpha})^r} \left\{ \sum_{v=1}^n |E_{n-v}^{\alpha-1}| v^k |a_v|^k \right\}^{r/k} \times \left\{ \sum_{v=1}^n |E_{n-v}^{\alpha-1}| \right\}^{(k-1)r/k}. \end{aligned} \quad (3.6)$$

Since

$$\begin{aligned} \sum_{v=1}^n |E_{n-v}^{\alpha-1}| &= |E_0^{\alpha-1}| + \sum_{v=1}^{n-1} |E_{n-v}^{\alpha-1}| = |E_0^{\alpha-1}| + \left| \sum_{v=1}^{n-1} E_{n-v}^{\alpha-1} \right| \\ &= |E_0^{\alpha-1}| + \left| \sum_{v=0}^n E_{n-v}^{\alpha-1} - E_n^{\alpha-1} - E_0^{\alpha-1} \right| = |E_0^{\alpha-1}| + |E_{n-1}^{\alpha} - E_0^{\alpha-1}|, \end{aligned} \tag{3.7}$$

and using the fact that

$$\left| \frac{E_{n-1}^{\alpha}}{E_n^{\alpha}} \right| = O(1), \tag{3.8}$$

we obtain

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{1}{n} |\tau_n^{\alpha}|^r &\leq \sum_{n=1}^{\infty} \frac{(E_n^{\alpha})^{(k-1)r/k}}{n(E_n^{\alpha})^r} \left\{ \sum_{v=1}^n |E_{n-v}^{\alpha-1}| v^k |a_v|^k \right\}^{r/k} \\ &\leq \sum_{n=1}^{\infty} \frac{(E_n^{\alpha})^{-r/k}}{n} \left\{ \sum_{v=1}^n |E_{n-v}^{\alpha-1}| v^{1-k/r+k^2/r} |a_v|^{k^2/r} v^{-(r-k)+k(r-k)/r} |a_v|^{k(r-k)/r} \right\}^{r/k}. \end{aligned} \tag{3.9}$$

Applying Hölder’s inequality with indices  $r/k, r/(r - k)$ , we deduce that

$$\sum_{n=1}^{\infty} \frac{1}{n} |\tau_n^{\alpha}|^r \leq \sum_{n=1}^{\infty} \frac{(E_n^{\alpha})^{-r/k}}{n} \sum_{v=1}^n |E_{n-v}^{\alpha-1}|^{r/k} v^{k-1+r/k} |a_v|^k \left\{ \sum_{v=1}^n v^{k-1} |a_v|^k \right\}^{(r-k)/k}. \tag{3.10}$$

Since  $(s_n) \in \mathcal{A}_k$ , we have

$$\sum_{n=1}^{\infty} \frac{1}{n} |\tau_n^{\alpha}|^r = O(1) \sum_{v=1}^{\infty} v^{k-1} |a_v|^k v^{r/k} \sum_{n=v}^{\infty} \frac{|E_{n-v}^{\alpha-1}|^{r/k}}{n(E_n^{\alpha})^{r/k}}. \tag{3.11}$$

From Lemma 3.1, if  $\alpha > 1 - k/r$ , then

$$\sum_{n=v}^{\infty} \frac{(E_{n-v}^{\alpha-1})^{r/k}}{n(E_n^{\alpha})^{r/k}} = O\left(v^{-r/k}\right), \tag{3.12}$$

therefore

$$\sum_{n=1}^{\infty} \frac{1}{n} |\tau_n^{\alpha}|^r = O(1) \sum_{v=1}^{\infty} v^{k-1} |a_v|^k = O(1). \tag{3.13}$$

If  $\alpha = 1 - k/r$ , then (See Lemma 5 of [[9]])

$$\sum_{n=v}^{\infty} \frac{|E_{n-v}^{\alpha-1}|^{r/k}}{n(E_n^\alpha)^{r/k}} = O\left(v^{-r/k} \log v\right), \quad (3.14)$$

and then

$$\sum_{n=1}^{\infty} \frac{1}{n} |\tau_n^\alpha|^r = O(1) \sum_{v=1}^{\infty} v^{k-1} \log v |a_v|^k = O(1). \quad (3.15)$$

If  $-k/r < \alpha < 1 - k/r$ , then (See Lemma 5 of [[9]])

$$\sum_{n=v}^{\infty} \frac{|E_{n-v}^{\alpha-1}|^{r/k}}{n(E_n^\alpha)^{r/k}} = O\left(v^{-\alpha(r/k)-1}\right), \quad (3.16)$$

hence

$$\sum_{n=1}^{\infty} \frac{1}{n} |\tau_n^\alpha|^r = O(1) \sum_{v=1}^{\infty} v^{k+(r/k)(1-\alpha)-2} |a_v|^k = O(1). \quad (3.17)$$

□

Theorem 3.2 includes Theorem 2.1 with the special case  $r = k$ .

**Theorem 3.3.** *If  $(s_n) \in \mathcal{A}_k$ , then  $\sum a_n$  is summable  $|A|_r$ ,  $r \geq k \geq 1$ .*

*Proof.* Using the fact that the summability  $|A|_k$  is a weaker property than summability  $|C, \alpha|_k$  for any  $\alpha > -1$ , then the proof follows from Theorem 3.2. □

Now we give some negative results.

**Corollary 3.4.** *Let  $k < r$ . Then  $(s_n) \in \mathcal{A}_r$  does not imply that the series  $\sum a_n$  is summable  $|A|_k$ .*

*Proof.* Let  $p$  be any number such that  $k < p < r$  and let  $a_n = 1/n(\log n)^{1/p}$ . Then, we have  $(s_n) \in \mathcal{A}_r$ . As in the proof of Flett, since  $\int_0^1 (1-x)^{k-1} |\phi'(x)|^k dx$  is divergent,  $\sum a_n$  is not summable  $|A|_k$ . □

**Corollary 3.5.** *Let  $k < r$ . Then  $(C, \alpha) \notin (\mathcal{A}_r, \mathcal{A}_k)$  for any  $\alpha > -1$ .*

*Proof.* The proof follows Theorem 3.3 and Corollary 3.4. □

**Corollary 3.6.** *Let  $k < r$ . Then  $(C, \alpha) \notin (\mathcal{A}_k, \mathcal{A}_r)$  for any  $-1 < \alpha < -k/r$ .*

## References

- [1] M. Fekete, "Zur theorie der divergenten reihen," *Math. és Termész. Értesítő (Budapest)*, vol. 29, pp. 719–726, 1911.
- [2] M. Stieglitz and H. Tietz, "Matrixtransformationen von Folgenräumen. Eine Ergebnisübersicht," *Mathematische Zeitschrift*, vol. 154, no. 1, pp. 1–16, 1977.
- [3] T. M. Flett, "On an extension of absolute summability and some theorems of Littlewood and Paley," *Proceedings of the London Mathematical Society*, vol. 7, pp. 113–141, 1957.
- [4] J. M. Whittaker, "The absolute summability of a series," *Proceedings of the Edinburgh Mathematical Society*, vol. 2, pp. 1–5, 1930.
- [5] G. Das, "A Tauberian theorem for absolute summability," *Proceedings of the Cambridge Philosophical Society*, vol. 67, pp. 321–326, 1970.
- [6] E. Savaş and H. Şevli, "On extension of a result of Flett for Cesàro matrices," *Applied Mathematics Letters*, vol. 20, no. 4, pp. 476–478, 2007.
- [7] H. C. Chow, "Note on convergence and summability factors," *Journal of the London Mathematical Society*, vol. 29, pp. 459–476, 1954.
- [8] E. Kogbetliantz, "Sur les séries absolument sommables par la méthode des moyennes arithmétiques," *Bulletin des Sciences Mathématiques*, vol. 49, pp. 234–256, 1925.
- [9] M. R. Mehdi, "Summability factors for generalized absolute summability," *Proc. London. Math. Soc.*, vol. 10, pp. 180–200, 1960.